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[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

1. \º Î}¤Ò>t¡”| í¤[ÅÊ¡¸[i¡ ëƒJà ™àÚ

(A) &[C¡ì>àìó¡à¹àìt¡

(B) &A¡àÒüì>àl¡à¹³àìt¡

(C) š[¹ìó¡¹àìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

2. [ó¡l¡ü>à[¹Úà l¡ü[Š±ìƒ A¡¸à[ºŸi¡öà l¡üŠ±æt¡ ÒÚ

(A) A¡ºåì³ºà ë=ìA¡

(B) "¸à>ôì=[¹[l¡Úà³ ë=ìA¡

(C) "à¹[A¡ìKà[>Úà³ ë=ìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

3. ‘¤àìÚà[ÎÎôìi¡³¸à[i¡Aô¡Î’ >à³A¡¹o[i¡ A¡ì¹>

(A) ¹¤ài¢¡ ¤øàl¡ü>

(B) K¸àÎšàl¢¡ ¤àl¡ü[Ò>

(C) A¡¸à´š * [K[º

(D) &òìƒ¹ ëA¡l¡üÒü >>

4. ëÒàÚàÒüìi¡A¡à¹-&¹ šòàW¡-¹à\¸ ëÅø[o[¤>¸àìÎ
[>³—[º[Jt¡ ëA¡à>[i¡ìA¡ ¹àJà ÒÚ[>?

(A) ®¡àÒü¹àÎ

(B) íÅ¤àº

(C) áyàA¡

(D) ¤¸àA¡ìi¡[¹Úà
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Direction : Answer the following questions

by selecting the correct option.

1. Water vascular system is a

characteristic of

(A) Ectenophora

(B) Echinodermata

(C) Porifera

(D) None of the above

2. In Funaria, calyptra is derived from

(A) columella

(B) antheridium

(C) archegonium

(D) None of the above

3. The term ‘biosystematics’ was

coined by

(A) Robert Brown

(B) Gaspard Bauhin

(C) Camp and Gilly

(D) None of them

4. Which of the following is excluded in 

Whittaker’s five-kingdom classifica-

tion?

(A) Viruses

(B) Algae

(C) Fungi

(D) Bacteria



5. ëA¡àÈšøàW¡ã¹ l¡üšàƒà> ë™[i¡ Ç¡‹å³ày ¤¸àA¡ìi¡[¹Úà
&¤} >ãºà®¡ Î¤å\ íÅ¤àìºÒü ëƒJà ™àÚ ëÎ[i¡ Òìºà

(A) ëÎºåìºà\

(B) ëšA¡[i¡>

(C) [W¡[i¡>

(D) [³l¡ü¹à[³A¡ "¸à[Îl¡

6. [>³—[º[Jt¡ ëA¡à>[i¡ ®¡àÒü¹àìÎ ">åš[Ñ‚t¡?

(A) ë¹[šÃìA¡Å>

(B) [³l¡üìi¡Å>

(C) Å[v¡û¡ [>N¢³>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

7. [l¡ìšÃà¤àìÚà>[i¡A¡ \ã¤>W¡yû¡ šøƒÅ¢>A¡à¹ã íÅ¤àº[i¡
Î>àv¡û¡ A¡¹¡ú

(A) &ìC¡àA¡à¹šàÎ

(B) [ó¡l¡üA¡àÎ

(C) ÑšàÒüì¹àKàÒü¹à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

8. [>³—[º[Jt¡ ëA¡à>ô ëKàË¡ã®å¡v¡û¡ šøàoã¹à ëA¡¤º³ày
ë™ï> \>>Òü Î´šÄ A¡ì¹?

(A) ëšøàìi¡àì\àÚà

(B) š[¹ìó¡¹à

(C) [>l¡à[¹Úà

(D) [i¡ì>àìó¡à¹à
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5. The cell wall component present

only in bacteria and blue green algae 

is

(A) cellulose

(B) pectin

(C) chitin

(D) muramic acid

6. Which one of the following is absent

in viruses?

(A) Replication

(B) Mutation

(C) Energy liberation

(D) None of the above

7. Identify the alga which exhibits

diplobiontic life cycle.

(A) Ectocarpus

(B) Fucus

(C) Spirogyra

(D) None of the above

8. Which of the following groups of

animals reproduce only buy sexual

means?

(A) Protozoa

(B) Porifera

(C) Cnidaria

(D) Ctenophora



9. [>³—[º[Jt¡ ëA¡à>[i¡ Ñz>¸šàÚã šøàoã¹ í¤[ÅÊ¡¸ >Ú?

(A) ¤õÒ; P¡¹ç¡ * ºQå ³[ÑzÍH 

(B) ƒÅ ë\àØl¡à A¡ì¹à[i¡A¡ >à®¢¡

(C) ¤à³ "¸à*[i¢¡A¡ "àW¢¡

(D) Îàt¡[i¡ Nøã¤à A¡ìÅ¹ç¡A¡à

10. l¡üšàU[¤Òã> &A¡[i¡ l¡ü®¡W¡¹ Òìºà

(A) ÒüA¡[=*[ó¡Îô

(B) ÒàÒüºà

(C) ¤åìó¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

11. ¤¸v¡û¡¤ã\ã l¡ü[Š±ìƒ¹ A¡àË¡ìA¡ >¹³ A¡àË¡ ¤ºà ÒÚ
A¡à¹o t¡àìƒ¹ A¡àìË¡ _____ ë>Òü¡ú

(A) ëóÃ¡àìÚ³ t¡”ñ

(B) ë³ài¡à šøàW¡ã¹ ™åv¡û¡ i¡ö¸àA¡ãl¡

(C) \àÒüìº³ t¡”ñ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

12. ‘ë>Å>¸àº [³l¡ü[\Úà³ "ó¡ ë>W¡à¹¸àº [ÒÐ¡öã’
"¤[Ñ‚t¡ "àìá

(A) ë³[GìA¡àìt¡

(B) ºr¡ì>

(C) *Úà[Å}i¡ì>

(D) [ƒÀãìt¡
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9. Which of the following is not a

characteristics of mammals?

(A) Large cerebrum and cerebellum

(B) Ten pairs of cranial nerves

(C) Left aortic arch

(D) Seven cervical vertebrae

10. The limbless amphibian is

(A) Ichthyophis

(B) Hyla

(C) Bufo

(D) None of the above

11. Wood of gymnosperms is soft

because they lack

(A) phloem fibres

(B) thick-walled tracheids

(C) xylem fibres

(D) None of the above

12. ‘National Museum of Natural

History’ is situated in

(A) Mexico

(B) London

(C) Washington

(D) Delhi



13. ‘\>Ð¡>-&¹ "K¢à>’ l¡üš[Ñ‚t¡ "àìá

(A) št¡ìU¹ "¸à>ìi¡>àÚ

(B) ³à[á¹ l¡üƒì¹

(C) "à¹ìÅàºà¹ ³ÑzìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

14. [>³—[º[Jt¡ ëA¡à>[i¡ áyàA¡ ë=ìA¡ l¡ü;šÄ ÒÚ >à?

(A) ÎàÒü[i¡öA¡ "¸à[Îl¡

(B) "à¹Ki¡¸à[³>

(C) AÃ¡¸à[®¡[Î>

(D) ëi¡i¡öàÎàÒü[AÃ¡>

15. [>³—[º[Jt¡ ëA¡à>[i¡ [i¡[>Úà ëÎà[ºÚà³-&¹ í¤[ÅÊ¡¸
>Ú?

(A) Ð¡ö[¤[ºÚà

(B) ë³i¡àì³[¹\³

(C) ëšøàìNÃà[i¡l¡

(D) "¸àìšàºàÒü[ÎÎ

16. A¡àr¡ š[¹¤[t¢¡t¡ ÒìÚ &A¡A¡ šo¢A¡àìr¡ ¹ê¡šà”z[¹t¡
ÒÚ

(A) A¡¸àÎå[¹>àìt¡

(B) ó¡[o³>ÈàÚ

(C) Òül¡üó¡¹[¤Úàìt¡

(D) Åt¡³èºãìt¡
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13. “Jonston’s organ” is present in

(A) antenna of insect

(B) abdomen of housefly

(C) head of cockroach

(D) None of the above

14. Which of the following is not of

fungal origin?

(A) Citric acid

(B) Ergotamine

(C) Clavicin

(D) Tetracycline

15. Which of the following is not the

characteristic of Taenia solium?

(A) Strobila

(B) Metamerism

(C) Proglottid

(D) Apolysis

16. Stem is modified into cladode in

(A) Casuarina

(B) Opuntia

(C) Euphorbia

(D) Asparagus



17. ¤õ[ÆW¡A¡àA¡à¹ šåÍš[¤>¸àìÎ Î¤ šåÍšP¡[º &A¡Òü
t¡ìº ¤t¢¡³à> =àA¡ìº t¡àìA¡ ¤ìº

(A) ¤[Ð¡öAô¡Î

(B) [Î>ô[Î>àÎ

(C) [l¡öšà[>Úà³

(D) [¹[š[l¡Úà³

18. ®å¡j¡àƒà>àÚ š[¹º[Û¡t¡ ÑHæìi¡ºà³[i¡ ">¸
&A¡¤ã\šyã l¡ü[Š±ìƒ¹ ëA¡à>ô "}ìÅ¹ Îàì=
tå¡º>ãÚ?

(A) ÎÎ¸

(B) ¤ã\šy

(C) °ç¡o³åAå¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

19. cå¡³A¡àºt¡à l¡ü[Š±ìƒ¹ "àA¡È¢ _____ "}Å ë=ìA
l¡ü;šÄ ÒÚ¡ú

(A) A¡à[Û¡A¡ ³åAå¡º

(B) "Nø³åAå¡º

(C) "Nø³èº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

20. [yÎà¹ã šy[¤>¸àìÎ ëA¡ï[oA¡ "šÎõ[t¡ Òìºà

(A) 140°

(B) 180°

(C) 120°

(D) 135°
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17. A scorpioid cyme having all the

followers in the same plane is

(A) Bostryx

(B) Cincinnus

(C) Drepanium

(D) Rhipidium

18. The scutellum observed in the grain

of maize is comparable to which part 

of other monocotyledons?

(A) Endosperm

(B) Cotyledon

(C) Plumule

(D) None of the above

19. Tendrils in Passiflora develops from

(A) axillary bud

(B) terminal bud

(C) apical root

(D) None of the above

20. The angular divergence of a

Tristichous phyllotaxy is

(A) 140°

(B) 180°

(C) 120°

(D) 135°



21. l¡ü[Š±ìƒ Aå¡ÒüìÎ–i¡ ëÎ–i¡à¹ ëƒJà ™àÚ

(A) ³èìº¹ "Nø®¡àìK

(B) A¡àìr¡¹ "Nø®¡àìK

(C) šàt¡à¹ "Nø®¡àìK

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

22. šàÅ«ã¢Ú ³èº l¡ü[Š±ìƒ¹ ë™ "}Å ë=ìA¡ l¡ü;šÄ ÒÚ
ëÎ[i¡ Òìºà

(A) "”zÑzA¡

(B) ¤[Ò@ÑzA¡

(C) š[¹W¡yû¡

(D) "‹@ÑzA¡

23. ‡ã¤ã\šyã l¡ü[Š±ìƒ¹ A¡àìr¡ Òü–i¡à¹ó¡¸à[ÎAå¡ºà¹
A¡¸à[´¬Úà³ l¡ü;šÄ ÒÚ

(A) "”zÑzA¡ ë=ìA¡

(B) š[¹W¡yû¡ ë=ìA¡

(C) ³ðà¹Æµã ë=ìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

24. i¡ö¸àA¡ãl¡ ">¸à>¸ i¡¸àA¡ãÚà¹ã l¡üšàƒà> ë=ìA¡ šõ=A¡
ÒÚ [>³—[º[Jt¡ A¡à¹ìo :

(A) A¡¸àÎôìš[¹Úà> š[i¡™åv¡û¡ Ò*ÚàÚ

(B) [ºK>ã> ™åv¡û¡ Ò*ÚàÚ

(C) [á‰[¤Òã> Ò*ÚàÚ

(D) [>l¡ü[AÃ¡ÚàÎ >à =àA¡àÚ
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21. Quiescent centre is found in plant at

(A) root tip

(B) shoot tip

(C) leaf tip

(D) None of the above

22. Lateral roots in plants originate from

(A) Endodermis

(B) Epidermis

(C) Pericyle

(D) Hypodermis

23. In dicolytedonous stem inter-

fascicular cambium develops from

(A) endodermis

(B) pericycle

(C) medullary rays

(D) None of the above

24. Tracheids differ from other

tracheary elements in

(A) having casparian strips

(B) being lignified

(C) being imperforate

(D) lacking nucleus



25. ëA¡àºàì\> t¡”ñ ëA¡à>ô šøA¡à¹ A¡ºà¹ í¤[ÅÊ¡¸?

(A) "à¤¹oã A¡ºà

(B) ëšÅã A¡ºà

(C) Ñ•àÚå A¡ºà

(D) Î}ì™àKã A¡ºà

26. Ñ•àÚåìA¡àìÈ¹ ë™ "}ìÅ ³àìÚà[º> Åã= ">åš[Ñ‚t¡
=àìA¡ t¡àìA¡ ¤ìº

(A) ë>àl¡ "¤ ¹¸à>[®¡Úà¹

(B) ëÎàÚà> ë>àl¡

(C) [>Îôº ƒà>à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

27. ë³¹ç¡ƒr¡ã šøàoãìƒ¹ ³[ÑzÍH [¤A¡àÅ ºà®¡ A¡ì¹

(A) &ì“¡àl¡à³¢ ë=ìA¡

(B) &ìC¡àl¡à³¢ ë=ìA¡

(C) ë³ìÎàl¡à³¢ ë=ìA¡

(D) ¤ÃàìÐ¡àl¡à³¢ ë=ìA¡

28. [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ "à¹ìÅàºà¹
Î}ì¤ƒã Kk¡> >Ú?

(A) "¸à>àº Îà¹A¡àÒü

(B) ëšøàì®¡>[i¡öAå¡ºàÎ

(C) "¸à>ìi¡>ã

(D) ³¸à[Gºà¹ã šàºôš
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25. Collagen fibres are characteristic of

which tissue?

(A) Epithelial

(B) Muscle

(C) Nervous

(D) Connective

26. The area where the myelin sheath is

absent in nerve cell is called

(A) node of Ranvier

(B) Schwann node

(C) Nissl’s grannules

(D) None of the above

27. Vertebrate brain differentiates from

(A) endoderm

(B) ectoderm

(C) mesoderm

(D) blastoderm

28. Which of the following is not a

sensory structure in cockroach?

(A) Anal cerci

(B) Proventriculus

(C) Antannae

(D) Maxillary pulp



29. šå¹ç¡È "à¹ìÅàºà¹ \>>t¡ì”|¹ ëA¡à>ô "}ìÅ
Ç¡yû¡àoå Î[e¡t¡ ÒÚ?

(A) ®¡àÎ [l¡ó¡àì¹>ôÎ

(B) ³àÎ¹ç¡³ Nø[”‚

(C) ëÎà³>àº ë®¡[ÎAô¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

30. "à¹ìÅàºà¹ ëš[¹i¡ö[ó¡A¡ šƒ¢à l¡ü;š[v¡ ºà®¡ A¡ì¹

(A) &ì–i¡à¹[A¡ [ÎA¡ã ë=ìA¡

(B) "ì”|¹ šƒ¢à ë=ìA¡

(C) A¡à[l¢¡Úà ë=ìA¡

(D) [K\àl¢¡ ë=ìA¡

31. ³Îõo &ì“¡àšÃàÎ³ãÚ \à[ºA¡à Òìºà [>³—[º[Jt¡
¹àÎàÚ[>A¡[i¡ l¡ü;šàƒì>¹ ³åJ¸Ñ‚º :

(A) ëšøà[i¡>

(B) [º[šl¡

(C) NÃàÒüìA¡àìšøà[i¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

32. ëA¡àÈšƒ¢à¹ Kk¡>A¡à¹ã [º[šl¡ Òìºà

(A) ó¡Îìó¡à[º[šl¡

(B) ëyû¡àì³à[º[šl¡

(C) Î¹º [º[šl¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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29. In male cockroach sperms are

stored in which part of the

reproductive system?

(A) Vas deferens

(B) Mushroom gland

(C) Seminal vescicles

(D) None of the above

30. The peritrophic membrane in

cockroach arises from

(A) enteric caeca

(B) intestinal wall

(C) cardia

(D) gizzard

31. The smooth endoplasmic reticulum

is the major site for synthesis of

(A) protein

(B) lipid

(C) glycoprotein

(D) None of the above

32. Structural lipids of cell membrane

are

(A) phospholipids

(B) chromolipids

(C) simple lipids

(D) None of the above



33. l¡üÄt¡ l¡ü[Š±ìƒ¹ &A¡[i¡ Nøà>àìt¡ =àÒüºàA¡ìÚìl¡¹
Î}J¸à ÒÚ

(A) 5-10

(B) 2-200

(C) 100-150

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

34. ëA¡àÈšøàW¡ãì¹ [ši¡ (pit) K[k¡t¡ ÒÚ [>³—[º[Jt¡[i¡¹
"®¡àì¤ :

(A) ëA¡àÈšàt¡

(B) šøà=[³A¡ šøàW¡ã¹ [>³¢àoA¡à¹ã šƒà=¢

(C) ëKï> šøàW¡ã¹ [>³¢àoA¡à¹ã šƒà=¢

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

35. ëA¡àìÈ¹ ÎàÒüìi¡àšÃàÎì³ ë™ ë¤³t¡”ñ ëƒJà ™àÚ ëÎ[i¡ 
K[k¡t¡ ÒÚ

(A) "¸à[C¡> ‡à¹à

(B) [i¡l¡ü[¤l¡ü[º> ‡à¹à

(C) ³àìÚà[Î> ‡à¹à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

36. ³¸à[>i¡º Òìºà &A¡[i¡

(A) "¸à³àÒüì>à "¸à[Îl¡

(B) "¸à³àÒüì>à "¸àºìA¡àÒº

(C) ÅA¢¡¹à "¸à[Îl¡

(D) ÅA¢¡¹à "¸àºìA¡àÒº
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33. In higher plants, the number of

thylakoids in a granum is usually

(A) 5–10

(B) 2–200

(C) 100–150

(D) None of the above

34. Pits are formed on the cell wall due

to lack of

(A) cell plate

(B) primary wall material

(C) secondary wall material

(D) None of the above

35. The spindle fibres found in

cytoplasm are made up of

(A) actin

(B) tubulin

(C) myosin

(D) None of the above

36. Mannitol is a/an

(A) amino acid

(B) amino alcohol

(C) sugar acid

(D) sugar alcohol



37. ‘"š[¹Òà™¢ : "ì>àš[¹Òà™¢ "¸à³àÒüì>à "¸à[Îl¡’
—[>³—[º[Jt¡ \å[i¡ ë=ìA¡ ë¤ìá >à* :

(A) ®¡¸à[º> : i¡àÒüì¹à[Î>

(B) ºàÒü[Î> : [ºl¡ü[Î>

(C) ë³=ã*[>> : [=øìÚà[>>

(D) "¸àºà[>> : [Î[Ð¡>

38. ÎÒl¡ü;ìÎW¡A¡ NAD &¤} NADP-&¹ ³ì‹¸
=àìA¡

(A) ¤àìÚà[i¡>

(B) [>Úà[Î>

(C) =àÚà[³>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

39. [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ í\¤ ">åQi¡A¡
[ÒÎàì¤ A¡à\ A¡¹ìt¡ šàì¹?

(A) ó¡¸à[i¡ "¸à[Îl¡

(B) "à¹.&>.&

(C) š[ºÎ¸àA¡à¹àÒül¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

40. &A¡[i¡ šø[t¡ì™àKãt¡à³èºA¡ l¡ü;ìÎW¡A¡ šø[t¡ì¹à‹A¡

(A) Km  ¤õ[‡ý¡ A¡ì¹ [A¡”ñ Vmax  ëA¡ šø®¡à[¤t¡
A¡ì¹ >à

(B) Km  ÒùàÎ A¡ì¹ [A¡”ñ Vmax  ëA¡ šø®¡à[¤t¡
A¡ì¹ >à

(C) Vmax  ¤õ[‡ý¡ A¡ì¹ [A¡”ñ Km  ëA¡ šø®¡à[¤t¡
A¡ì¹ >à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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37. ‘Essential : Non-essential amino

acid’—Select from the following :

(A) Valine : Tyrosine

(B) Lysine : Leusine

(C) Methionine : Threonine

(D) Alanine : Cystine

38. Coenzymes NAD and NADP contain

(A) Biotin

(B) Niacin

(C) Thiamine

(D) None of the above

39. Which of the following can serve as

biocatalysts?

(A) Fatty acids

(B) RNAs

(C) Polysaccharides

(D) None of the above

40. A competitive enzyme inhibitor

(A) increases K m  without affecting 

V max

(B) decreases K m  without affecting 

V max

(C) increases V max  without

affecting K m

(D) None of the above



41. [>l¡ü[AÃ¡* [¤®¡à\> ¤¸[t¡t¡ ëyû¡àì³àì\àì³¹
lå¡[šÃìA¡Å>ìA¡ ¤ìº

(A) ³àÒüìi¡à[ÎÎ

(B) [³ìÚà[ÎÎ

(C) &ìr¡à³àÒüìi¡à[ÎÎ

(D) "¸à³àÒüìi¡à[ÎÎ

42. [³ìÚà[ÎÎ I &¤} [³ìÚà[ÎÎ II-&¹ "”z¤[v¢¡
Î³ÚìA¡ ¤ìº

(A) ¤õ[‡ý¡ ƒÅà

(B) Òü–i¡à¹A¡àÒüì>à[ÎÎ

(C) Òü–i¡à¹ìó¡\

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

43. ³àÒüìi¡à[ÎìÎ¹ ë³i¡àìó¡\ ƒÅàÚ ë¤³t¡”ñP¡[º
ëyû¡àì³àì\àì³¹ _____ "}ìÅ ™åv¡û¡ ÒÚ¡ú

(A) A¡àÒüì>àìi¡àìA¡à¹

(B) A¡àÒüì>àìi¡àìA¡à¹ &¤} ëÎì–i¡öàì³Úà¹

(C) ëÎì–i¡öàì³Úà¹

(D) ëÎì–i¡öàì³Úàì¹¹ A¡àáàA¡à[á

44. ëA¡àÈW¡ìyû¡¹ _____ ƒÅàÚ ëA¡àÈP¡[º [¤[A¡¹o\[>t¡ 
Û¡[t¡¹ šø[t¡ Î¤¢àìšÛ¡à A¡³ ÎàìÎš[i¡¤ôº ÒÚ¡ú

(A) G1

(B) G2

(C) S

(D) M
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41. Chromosome duplication without

nuclear division is called

(A) mitosis

(B) meiosis

(C) endomitosis

(D) amitosis

42. The time period between meiosis I

and meiosis II is called

(A) growth phase

(B) interkinesis

(C) interphase

(D) None of the above

43. During metaphase stage of mitosis

spindle fibres attach to the

chromosome at

(A) kinetochore

(B) kinetochore and centromere

(C) centromere

(D) areas adjoining centromere

44. Cells in _____ phase of cell cycle are

least susceptible to radiation

damage.

(A) G1

(B) G2

(C) S

(D) M



45. [>³—[º[Jt¡ ëA¡à>ô A¡à™¢[i¡ ³àÒüìi¡àA¡>[l¡öÚà Î´šàƒ>
A¡ì¹ >à?

(A) ATP Î}ìÅÃÈo

(B) ëÐ¡¹ìÚl¡ Î}ìÅÃÈo

(C) [>l¡ü[AÃ¡A "¸à[Îl¡ Î}ìÅÃÈo

(D) š[ºÎ¸àA¡à¹àÒül¡ [l¡ìNøìl¡Å>

46. ³èìº¹ \º š[¹¤Òì>¹ "¸àìšàšÃàÎ[i¡A¡ š=[i¡
Òìºà

(A) ëA¡àÈšøàW¡ã¹

(B) ëA¡àÈšøàW¡ã¹ * ëA¡àÈà”z¹ Ñ‚à>

(C) ëA¡àÈà”z¹ Ñ‚à>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

47. l¡ü[Š±ìƒ¹ šøìÑ¬ƒ>-šø[t¡ì¹à‹ã &A¡[i¡ ¹àÎàÚ[>A¡
Òìºà

(A) [ó¡>àÒüº ³à¹[A¡l¡ü[¹A¡ "¸à[Îl¡

(B) l¡àÒü[³=àÒüº ³à¹A¡à[¹

(C) ši¡à[ÎÚà³ "àìÚàl¡àÒül¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

48. šÃàÎì³àºàÒü[ÎÎ "¤Ñ‚àÚ =àA¡à &A¡[i¡ ëA¡àìÈ¹
ëÛ¡ìy [>ì³—¹ ëA¡à>ô Î³ãA¡¹o[i¡ Î[k¡A¡?

(A) DPD = TP

(B) DPD = OP

(C) DPD = OP – TP

(D) DPD = OP + TP
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45. Which of the following functions is

not performed by mitochondria?

(A) ATP synthesis

(B) Steroid synthesis

(C) Nucleic acid synthesis

(D) Polysaccharide degradation

46. Apoplastic path for the transport of

water in root is through

(A) cell wall

(B) intercellular space and cell wall

(C) intercellular space

(D) None of the above

47. An antitranspirant in plants is

(A) phenyl mercuric acid

(B) dimethyl mercury

(C) potassium iodide

(D) None of the above

48. When a cell is plasmolysed, which

equation is correct?

(A) DPD = TP

(B) DPD = OP

(C) DPD = OP – TP

(D) DPD = OP + TP



49. >àÒüìi¡öàì\> * ši¡à[ÎÚàì³¹ "®¡à¤\[>t¡ ºÛ¡o
šø=³ š[¹º[Û¡t¡ ÒÚ l¡ü[Š±ìƒ¹

(A) ³åAå¡ìº

(B) A¡[W¡ šàt¡àÚ

(C) ³èìº

(D) ¤à‹¢A¡¸ šã[Øl¡t¡ šàt¡àÚ

50. >àÒüìi¡öà[\ì>\ l¡ü;ìÎW¡A¡[i¡ Òìºà &A¡[i¡

(A) Cu-Fe ëšøài¡ã>

(B) Mo-Fe ëšøà[i¡>

(C) Ni-Fe ëšøà[i¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

51. "àº>àÎ l¡ü[Š±ìƒ¹ ³èº "¤å¢ìƒ >àÒüìi¡öàì\> Î}¤Þê¡> 
Qi¡àÚ

(A) óø¡¸à}[A¡Úà

(B) "¸àì\à¹àÒüì\à[¤Úà³

(C) AÃ¡Î[i¡ö[l¡Úà³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

52. [>³—[º[Jt¡ ëA¡à>ô l¡ü[Š±ƒ ¹gA¡ šƒà=¢[i¡ \ìº
‰¤>ãÚ?

(A) ëAÃ¡àì¹à[ó¡º

(B) \¸àì”‚à[ó¡º

(C) ó¡àÒüìA¡à[¤[º>

(D) A¡¸àì¹à[i¡>ìÚl¡
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49. In plants deficiency symptoms of

nitrogen and potassium are visible

first in

(A) buds

(B) young leaves

(C) roots

(D) senescent leaves

50. Enzyme nitroginase is a

(A) Cu-Fe protein

(B) Mo-Fe protein

(C) Ni-Fe protein

(D) None of the above

51. Nitrogen fixation in root nodules of

Alnus is brought about by

(A) Frankia

(B) Azorhizobium

(C) Clostridum

(D) None of the above

52. Which of the following plant

pigments is water soluble?

(A) Chlorophyll

(B) Xanthophyll

(C) Phycobilin

(D) Carotenoid



53. ëA¡º[®¡> W¡yû¡[i¡ Òìºà

(A) [¹l¡àA¡[i¡®¡ A¡à¤¢[GìºÅ>

(B) "[Gìl¡[i¡®¡ A¡à¤¢[GìºÅ>

(C) "[Gìl¡[i¡®¡ [l¡A¡à¤¢[GìºÅ>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

54. ÎàìºàA¡Î}ìÅÃìÈ "[Gì\> [>K¢³ì> ë™ ë³ïº[i¡
"t¡¸à¤Å¸A¡ ëÎ[i¡ Òìºà

(A) Mg

(B) Mn

(C) Fe

(D) Mo

55. Å«Î> šø[yû¡Úà¹ Î³Ú ³àÒüìi¡öàA¡[“¡öÚàÚ ëšøài¡ã> \³à
ÒÚ

(A) ¤àÒüì¹¹ šƒ¢àÚ

(B) [®¡t¡ì¹¹ šƒ¢àÚ

(C) ƒå[i¡ šƒ¢à¹ ³‹¸¤t¢¡ã Ñ‚ìº

(D) ‹àìy

56. ë™ l¡ü;ìÎW¡A¡[i &.[i¡.[š. ë=ìA¡ ó¡Îìó¡i¡ Nøç¡š
A¡à¤¢ÒàÒüìl¡öi¡ Ñ‚à>à”z¹ì> ÎÒÚt¡à A¡ì¹ ëÎ[i¡ Òìºà

(A) ó¡Îôó¡àìi¡\

(B) ó¡Îôìó¡à¹àÒüìº\

(C) &[i¡[šìÚ\

(D) A¡¸ài¡àìº\
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53. Calvin cycle is

(A) reductive carboxylation

(B) oxidative carboxylation

(C) oxidative decarboxylation

(D) None of the above

54. Element essential for evolution of

oxygen during photosynthesis is

(A) Mg

(B) Mn

(C) Fe

(D) Mo

55. During respiration protons

accumulate in mitochondria at

(A) outer membrane

(B) inner membrane

(C) inter-membrane space

(D) matrix

56. The enzyme which helps in transfer

of phosphate group from ATP to a

carbohydrate is

(A) phosphatase

(B) phosphorylase

(C) ATPase

(D) catalase



57. ™J> i¡öàÒüšà[³[i¡> Å«Îì> Îà¤ìi¡öi¡ [ÒÎàì¤ ¤¸¤Òê¡t¡
ÒÚ t¡J> RQ-&¹ ³à> ÒÚ

(A) > 1

(B) 1

(C) 0·7

(D) ¥

58. A¡àÒüì>[i¡> >à³A l¡ü[Š±ƒ Ò¹ì³à>[i¡ Òìºà &A¡[i¡

(A) "¸àìl¡[>> ë=ìA¡ º§¡

(B) i¡à¹[š>

(C) A¡¸àì¹à[i¡>ìÚl¡ ë=ìA¡ º§¡

(D) l¡üšì¹¹ ëA¡à>[i¡ >Ú

59. ó¡àÒüìi¡àìyû¡àì³¹ Pr Kk¡>[i¡ ‡à¹à ëÅà[Èt¡ "àìºà¹
t¡¹UîƒQ¢¸ Òìºà

(A) 620 nm

(B) 680 nm

(C) 720 nm

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

60. ¤ãì\¹ "Så¡ì¹àƒKì³¹ Î³Ú Î[e¡t¡ Jàƒ¸
Ñ‚à>à”z[¹t¡ ÒÚ

(A) ÎàÒüìi¡àA¡àÒü[>> ‡à¹à

(B) Òü[=ºã> ‡à¹à

(C) [\¤ÿ¤àì¹[º> ‡à¹à

(D) ABA ‡à¹à
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57. When tripalmitin is used as a

substrate in respiration, the RQ is

(A) > 1

(B) 1

(C) 0·7

(D) ¥

58. The plant hormone kinetin is a/an

(A) adenine derivative

(B) terpene

(C) carotinoid derivative

(D) None of the above

59. The wavelength of light absorbed by

Pr form of phytochrome is

(A) 620 nm

(B) 680 nm

(C) 720 nm

(D) None of the above

60. During germination the stored food

in the seed is mobilized by

(A) cytokinin

(B) ethylene

(C) gibberellin

(D) ABA



61. ³à>¤ìƒìÒ "àì\¢>i¡à[ó¡> ëA¡àÈ šà*Úà ™àÚ

(A) Ûå¡‰àì”z

(B) ¤õÒƒì”z

(C) ™Aõ¡ìt¡

(D) šàA¡Ñ‚ºãìt¡

62. [>³—[º[Jt¡ Kk¡ì>¹ ³à‹¸ì³ "ì”| Jàƒ¸‰¤¸ ëÅà[Èt¡
ÒÚ :

(A) [Î[ºÚà

(B) óÃ¡àì\ºà

(C) [®¡ºàÒü

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

63. &[´£¡ìÎ³à Òìºà &A¡[i¡

(A) óå¡Îóå¡ÎãÚ ë¹àK

(B) Òê¡ƒÎ}¤Ò>Kt¡ ë¹àK

(C) Ñ•àÚå ë¹àK

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

64. ¹v¡û¡ CO2 ëA¡ ëA¡à>ô ¹ê¡ìš šø‹à>t¡ ¤Ò> A¡ì¹?

(A) HbCO2

(B) NaHCO2

(C) A¡à¤¢[>A¡ "¸à[Îl¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

/16 17 [ P.T.O.

61. Argentaffin cells in human beings

are found in

(A) small intestine

(B) large intestine

(C) liver

(D) stomach

62. The food materials in intestine are

absorbed through

(A) cilia

(B) flagella

(C) villi

(D) None of the above

63. Emphysema is a

(A) pulmonary disease

(B) cardiovascular disease

(C) neural disease

(D) None of the above

64. Blood carries CO2 mainly in which

form?

(A) HbCO2

(B) NaHCO2

(C) Carbonic acid

(D) None of the above



65. ëA¡àìºìÐ¡¹º \³à Ò*Úà¹ A¡à¹ìo ‹³>ã¹ šøàW¡ã¹
ë³ài¡à Ò*ÚàìA¡ ¤ìº

(A) "ài¢¡à[¹*ÎôìAÃ¡ì¹à[ÎÎô

(B) [¹l¡ü³¸à[i¡A¡ Òài¢¡

(C) A¡à[l¢¡ÚàA¡ "¸àì¹Ê¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

66. ³à>åìÈ¹ A¡à[l¢¡ÚàA¡ W¡ìyû¡¹ Î³ÚA¡àº Òìºà šøàÚ

(A) 0·6 sec

(B) 0·8 sec

(C) 0·1 sec

(D) 0·6 min

67. [>³—[º[Jt¡ ëA¡à>[i¡ ³èìy [>Îõt¡ ÒÚ >à?

(A) [>Úà[Î>

(B) "¸àÎôA¡¹[¤A¡ "¸à[Îl¡

(C) ëA¡àìºA¡¸àºô[Îìó¡¹º

(D) [=Úà[³>

68. Îà³å[‰A¡ "[Ñ‚™åv¡û¡ ³àìá¹ ë¹W¡> šƒà=¢ Òìºà

(A) Òül¡ü[¹Úà

(B) "¸àì³à[>Úà

(C) "¸à³àÒüì>à "¸à[Îl¡

(D) ëšøài¡ã>
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65. Thickening of arteries due to

cholesterol deposition is

(A) arteriosclerosis

(B) rheumatic heart

(C) cardiac arrest

(D) None of the above

66. Duration of human cardiac cycle is

approximately

(A) 0·6 sec

(B) 0·8 sec

(C) 0·1 sec

(D) 0·6 min

67. Which of the following is not

secreted in urine?

(A) Niacin

(B) Ascorbic acid

(C) Cholecalciferol

(D) Thiamine

68. Excretory material of marine bony

fish is

(A) urea

(B) ammonia

(C) amino acid

(D) protein



69. ¤àA¡àº ëA¡[®¡[i¡¹ t¡ºìƒìÅ "¤[Ñ‚t¡ ‘U’ "àAõ¡[t¡¹
"[Ñ‚[i¡¹ >à³

(A) ³¸à[ºÚàÎ

(B) &=³ìÚl¡

(C) ëÑ£¡>ìÚl¡

(D) ÒàÒü*ìÚl¡

70. [>ì³—¹ ëA¡à>[i¡ ëšÅã Î}ìA¡àW¡ì>¹ Îàì= ™åv¡û¡
>Ú?

(A) "¸à[C¡>

(B) i¡öìšà[>>

(C) A¡¸àº[ÎÚà³ "àÚ>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

71. ³à>¤ìƒìÒ "[G[ši¡àº A¡“¡àÒüìºìÎ¹ Î}J¸à Òìºà

(A) &A¡

(B) ƒåÒü

(C) [t¡>

(D) W¡à¹

72. ³à>åìÈ¹ šÆW¡à;³[ÑzìÍHH¹ ë™ "}Å[i¡ W¡Ûå¡-ÒÑz
Î³ÞìÚ¹ \>¸ ƒàÚã ëÎ[i¡ Òìºà

(A) š>Îô ë®¡¹[º

(B) =¸àºà³àÎ

(C) ëÎ[¹ì¤ºà³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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69. The ‘U’ shaped bone present at the

base of buccal cavity is

(A) malleus

(B) ethmoid

(C) sphenoid

(D) hyoid

70. Which of the following is not

involved in mascular contraction?

(A) Actin

(B) Troponin

(C) Calcium ion

(D) None of the above

71. The number of occipital condyles in

man is

(A) one

(B) two

(C) three

(D) four

72. The part of human hindbrain

responsible for hand-eye

coordination is

(A) pons varolii

(B) thalamus

(C) cerebellum

(D) None of the above



73. [³Îô>à¹Î A¡¹šÎôº l¡üš[Ñ‚t¡ =àìA¡

(A) W¡ì³¢

(B) [\ÔàÚ

(C) ³[ÑzìÍHH

(D) Ñ•àÚå ëA¡àìÈ

74. ÒüìÐ¡öàì\> Ò¹ì³à> A¡³ ³àyàÚ =àA¡ìº ëA¡à>ô
ë¹àK[i¡ ëƒJà ™àÚ?

(A) ³àÚàÎì=[>Úà ëNø[®¡Î

(B) [i¡ìi¡>ã

(C) "à¹=øàÒü[i¡Î

(D) *Îô[i¡*ìšàì¹[ÎÎô

75. šàA¡"”|ãÚ Ò¹ì³à> ë™[i¡ Òü>Îå[º> Û¡¹ìo
l¡ü„ãš>à ëƒÚ ëÎ[i¡ Òìºà

(A) K¸àÎ[i¡ö>

(B) K¸àÎ[i¢¡A¡ Òü>[Ò[¤i¡[¹ ëšši¡àÒül¡

(C) [Îìyû¡[i¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

76. [>³—[º[Jt¡ ëA¡à>[i¡¹ ³à‹¸ì³ [š[Ê¡Úà l¡ü[Š±ìƒ "U\ 
\>> Qìi¡?

(A) ‹à¤A¡

(B) ¤yû¡ ‹à¤A¡

(C) J¤¢ ‹à¤A¡

(D) l¡ü‡ý¡¢ ‹à¤A¡

/16 20

73. Meissner’s corpuscles occur in

(A) skin

(B) tongue

(C) brain

(D) nerve cells

74. Decreased levels of estrogen is a

common cause for

(A) Myasthenia gravis

(B) tetany

(C) arthritis

(D) osteoporesis

75. The gastrointestinal hormone which

stimulates insulin secretion is

(A) gastrion

(B) gastric inhibitory peptide

(C) secretin

(D) None of the above

76. Vegetative propagation in Pistia

occurs by

(A) runner

(B) stolon

(C) offset

(D) sucker



77. ³ì>àA¡à[š¢A¡ l¡ü[Š±ƒ Îà‹à¹ot¡

(A) ¤áì¹ ƒå¤à¹ šøÑ£å¡[i¡t¡ ÒÚ

(B) &A¡ šøA¡à¹ šåÍš ¤Ò> A¡ì¹

(C) ¤áì¹ &A¡¤à¹ šøÍ£å¡[i¡t¡ ÒÚ

(D) \ã¤>W¡ìyû¡ &A¡¤à¹Òü šøÍ£å¡[i¡t¡ ÒÚ &¤} ³à¹à 
™àÚ

78. [‡-šøìA¡àË¡™åv¡û¡ &A¡[i¡ š¹àK‹à>ã¹ šø[t¡[i¡
š¹àKÑ‚ºãìt¡ 1000 ë¹oå³àtõ¡ìA¡àÈ =àA¡ìº
š¹àK‹à>ã[i¡ìt¡ ë³ài¡ A¡t¡ š¹àK ë¹oå l¡ü;šÄ
Òì¤?

(A) 16000

(B) 4000

(C) 8000

(D) 32000

79. [>³—[º[Jt¡ ëA¡à>[i¡ l¡ü;ìÎW¡A¡ šø[t¡ì¹à‹ã?

(A) šàt¡à¹ [A¡l¡ü[i¡Aô¡º

(B) A¡A¢¡

(C) š¹àK ë¹oå

(D) l¡ül¡ ó¡àÒü¤à¹

80. ë™ l¡ü[Š±ƒP¡[ºìt¡ [l¡´¬àÅìÚ Î¿ Î}J¸A¡ [l¡´¬A¡
"=¤à &A¡[i¡³ày [l¡´¬àÅÚ =àìA¡ ëÎP¡[ºìt¡
š¹àKì™àK Qìi¡ ëA¡à>[i¡ ‡à¹à?

(A) ¤àÚå

(B) šÛ¡ã

(C) ë³ï³à[á

(D) \º
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77. Monocarpic plant generally

(A) flowers twice in every year

(B) bears only one type of flower

(C) flowers once in every year

(D) dies after flowering once in its

life cycle

78. In a dithecous anther, each pollen

sac contains 1000 MMC. What is the 

total number of pollen grains

produced by the anther?

(A) 16000

(B) 4000

(C) 8000

(D) 32000

79. Which one of the following is

resistant to enzyme action?

(A) Leaf cuticle

(B) Cork

(C) Pollen grains

(D) Wood fibres

80. Plants with ovaries having only one

or a few ovules, are generally

pollinated by

(A) wind

(B) birds

(C) bees

(D) water



81. Ûå¡‰ Aå¡[e¡t¡ °ç¡> ë™ ëKàìy šà*Úà ™àÚ ëÎ[i¡
Òìºà

(A) "¸àÊ¡àì¹Îã

(B) "¸àì>àì>Îã

(C) Òül¡üó¡¹[¤ìÚÎã

(D) yûæ¡Îãìó¡¹ã

82. ³õƒôKt¡ "Så¡ì¹àƒôKì³ °ç¡>³åAå¡º[i¡ ™à¹ íƒìQ¢¸ ¤õ[‡ý¡¹ 
\>¸ ³à[i¡¹ l¡üš¹ l¡üìk¡ "àìÎ ëÎ[i¡ Òìºà

(A) ¤ã\šyà‹ãA¡àr¡

(B) ¤ã\šyà¤A¡àr¡

(C) ¤ã\šy

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

83. ³à>åìÈ¹ ëÎ[³>àº šÃà\³à ë™ ¹àÎàÚ[>A¡ šƒàì=¢
Î³õ‡ý¡ =àìA¡ ëÎ[i¡ Òìºà

(A) NÃåìA¡à\ * A¡¸àº[ÎÚà³

(B) óøå¡ìC¡à\ * A¡¸àº[ÎÚà³

(C) ¹àÒüì¤à\ * ši¡à[ÎÚà³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

84. ó¡¸àìºà[šÚà> >àºà¹ _____ "}Å[i¡ [l¡´¬àÅìÚ¹
Î¤¢àìšÛ¡à [>A¡ìi¡ =àìA¡¡ú

(A) "¸à´šåºà

(B) Îà¹[®¡G

(C) Òü>ó¡à[“¡¤åºà³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

/16 22

81. Ruminate endosperm is found in

(A) Asteraceae

(B) Annonaceae

(C) Euphorbiaceae

(D) Cruciferae

82. In hypogeal germination plumule

comes out of the ground due to

elongation of

(A) epicotyl

(B) hypocotyl

(C) cotyledons

(D) None of the above

83. Seminal plasma of human male is

rich in

(A) glucose and calcium

(B) fructose and calcium

(C) ribose and potassium

(D) None of the above

84. The part of the fallopian tube closest 

to the ovary is

(A) ampulla

(B) cervix

(C) infundibulum

(D) None of the above



85. Ååyû¡àoåå¹ ÅãÈ¢à¤¹A¡ ë™ ëA¡àÈ"Uà>å ë=ìA¡ l¡ü;šÄ
ÒÚ ëÎ[i¡ Òìºà

(A) Kºô[K ¤[l¡

(B) &ì“¡àšÃà\[³A¡ ë¹[i¡Aå¡ºà³

(C) šà¹[Gì\à³

(D) ëÎ[–i¡ö*º

86. ¹\:W¡ìyû¡¹ [>[³v¡ Ò¹ì³à>P¡[º l¡ü;šà[ƒt¡ ÒÚ

(A) [l¡´¬àÅÚ ‡à¹à

(B) \¹àÚå ‡à¹à

(C) "NøÑ‚ [šiå¡Òüi¡à¹ã * \¹àÚå ‡à¹à

(D) [l¡´¬àÅÚ * "NøÑ‚ [šiå¡Òüi¡à¹ã ‡à¹à

87. Ñz>¸šàÚã šøàoã¹ [l¡´¬àÅìÚ¹ ëA¡à>ô "}Å[i¡ [l¡´¬
[>:Î¹ìo¹ š¹ "”z:Û¡¹à Nø[”‚¹ê¡ìš A¡à\ A¡ì¹?

(A) [®¡ìi¡[º> šƒ¢à

(B) Nøà[ó¡Úà> ó¡[ºA¡º

(C) \à¹[³>àº &[šì=[ºÚà³

(D) ëÐ¡öà³à

88. ³à>¤ìƒìÒ¹ [l¡´¬àÅìÚ¹ [‡t¡ãÚ [³ìÚà[i¡A¡ [¤®¡à\>
Qìi¡

(A) [>ìÈìA¡¹ š¹

(B) [l¡´¬ [>:Î¹ìo¹ š¹

(C) [l¡´¬ [>:Î¹ìo¹ [k¡A¡ šå¤¢ ³è×ìt¢¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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85. Acrosome of sperm is derived from

(A) Golgi bodies

(B) endoplasmic reticulum

(C) peroxisome

(D) centriole

86. Hormones for menstrual cycle is

produced by

(A) ovary

(B) uterus

(C) anterior pituitary and uterus

(D) ovary and anterior pituitary

87. Which part of ovary in mammals

acts as an endocrine gland after

ovulation?

(A) Vitelline membrane

(B) Graafian folicle

(C) Germinal epithelium

(D) Stroma

88. In human beings the second meiotic

division in the ovum occurs

(A) after fertilization

(B) after ovulation

(C) immediately before ovulation

(D) None of the above



89. ¹ÎàÚ>àKàì¹ [l¡´¬ìA¡¹ "à[¤Ê¡ [>ìÈìA¡¹ š¹ ëA¡à>ô 
ƒÅàÚ ëÎ[i¡ìA¡ \¹àÚåìt¡ Ñ‚à>à”z¹ A¡¹à ÒÚ?

(A) \àÒüìKài¡

(B) °ç¡ìo¹ 4 ¤ÃàÎìi¡àì³Úà¹ ƒÅàÚ

(C) ³¹ç¡ºà ƒÅàÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

90. "¸à³ô[>*ìÎì–i¡[ÎÎ š‡ý¡[t¡ìt¡

(A) Òê¡;[šìr¡¹ ë¹àK [>¹ê¡š> A¡¹à ÒÚ

(B) °ç¡ìo¹ ¤}ÅKt¡ ë¹àK [>¹ê¡šo A¡¹à ÒÚ

(C) ëšàÈ> ³à‹¸ì³ ëA¡àÈ l¡ü;šàƒ> A¡¹à ÒÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

91. ÎÒšøA¡i¡t¡à¹ &A¡[i¡ l¡üƒàÒ¹o Òìºà

(A) l¡öìÎà[ó¡ºà¹ W¡Ûå¡¹ ¤o¢

(B) ³i¡¹¤ãì\¹ ¤o¢

(C) ³à>åìÈ¹ AB ¹v¡û¡ Nøç¡š

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

92. RRYY &¤} rryy \[>tõ¡¹ ³ì‹¸ [‡:Î}A¡¹ \>> 
Qi¡àìº F2 \>åìt¡ A¡Ú[i¡ RrYy [\ì>ài¡àÒüš
šà*Úà ™àÚ?

(A) 1

(B) 2

(C) 3

(D) 4
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89. After induced fertilization of ovum in 

the laboratory, at which of the

following stages it is transferred into 

uterus?

(A) Zygote

(B) Embryo at 4th blastomere stage

(C) Morula

(D) None of the above

90. Amniocentesis is a technique to

(A) determine the disease of heart

(B) determine any hereditary

disease of embryo

(C) grow cell in culture medium

(D) None of the above

91. An example of codominance is

(A) eye colour of Drosophila

(B) seed colour in pea plants

(C) AB blood group of man

(D) None of the above

92. In a dihybrid cross between RRYY

and rryy parents, the number of

RrYy genotypes in F2 generation is

(A) 1

(B) 2

(C) 3

(D) 4



93. XO ‹¹ìo¹ ëÒi¡àì¹àK¸àì³[i¡A¡ šå¹ç¡È ëƒJà ™àÚ

(A) ó¡[Øl¡}-&

(B) l¡öìÎà[ó¡ºàìt¡

(C) šàJãìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

94. ™[ƒ [št¡à * ³àt¡à l¡ü®¡ÚÒü =¸àºàìÎ[³Úà >à³A¡
"ìi¡àì\à³àº ë¹àK[i¡¹ ¤àÒA¡ ÒÚ t¡ì¤ K®¢¡‹à¹ìo
l¡ü;šÄ Î”zà>[i¡¹ šø®¡à[¤t¡ Ò*Úà¹ Î´±à¤>à

(A) 100%

(B) 50%

(C) 25%

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

95. ³à>¤ìƒìÒ ëA¡àìÈ¹ 21t¡³ ëyû¡àì³àì\àì³¹
i¡öàÒüì\à[³ìA¡ ¤ºà ÒÚ

(A) l¡àl¡ü> [Î>ìl¡öà³

(B) i¡à>¢à¹ [Î>ìl¡öà³

(C) [AÃ¡ì>ìó¡ºi¡à¹ [Î>ìl¡öà³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

96. [l¡.&>.&.-&¹ ë™ "}Å[i¡ &A¡[i¡ Î´šèo¢ š[º
ëšši¡àÒüìl¡¹ Î}¤àƒ ¤Ò> A¡ì¹ t¡àìA¡ ¤ºà ÒÚ

(A) [³l¡üi¡>

(B) [ÎÎi¡ö>

(C) ë¹A¡>

(D) "ìš¹>

97. [ÒìÐ¡à> ë™ ¹àÎàÚ[>ìA¡ Î³õ‡ý¡ =àìA¡ ëÎ[i¡ Òìºà

(A) [ÒÎô[i¡[l¡>

(B) "¸àºà[>> * NÃàÒü[Î>

(C) [ÎÎ[i¡> * i¡àÒüì¹à[Î>

(D) ºàÒü[Î> * "à[\¢[>>
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93. XO types of heterogametic males are 

seen in

(A) grasshoppers

(B) Drosophila

(C) Birds

(D) None of the above

94. If both the parents are carriers of

thalassaemia, which is an

autosomal disorder. What are the

chances of pregnancy resulting in

an affected child?

(A) 100%

(B) 50%

(C) 25%

(D) No chance

95. The trisomy in 21st chromosome of

human being is called

(A) Down’s syndrome

(B) Turner’s syndrome

(C) Klinefelter’s syndrome

(D) None of the above

96. The portion of DNA which contains

information for an entire polypeptide 

is called

(A) muton

(B) cistron

(C) recon

(D) operon

97. Histones are rich in

(A) histidine

(B) alanine and glycine

(C) cystine and tyrosine

(D) lysine and arginine



98. ë™ "à[ƒìA¡àÈãÚ l¡ü;ìÎW¡A¡[i¡ 5¢-3¢

&ìGà[>l¡ü[AÃ¡ìÚ\ ‹³¢™åv¡û¡ ëÎ[i¡ Òìºà

(A) [l¡. &>. &. š[º³àì¹\ I

(B) [l¡. &>. &. š[º³àì¹\ II

(C) [l¡. &>. &. š[º³àì¹\ III

(D) (A) &¤} (C) l¡ü®¡ÚÒü

99. Òül¡üA¡¸à[¹*[i¡A¡ [\ì>¹ ë™ "}Å[i¡ ">å[º[Jt¡ ÒÚ
[A¡”ñ ">å¤à[ƒt¡ ÒÚ >à ëÎ[i¡ Òìºà

(A) &G>

(B) ëA¡àl¡>

(C) Òü>i¡ö>

(D) [ÎÎi¡ö>

100. [l¡. &>. &. [ó¡}Kà¹[šø[–i¡} & ë™ š‡ý¡[t¡[i¡
šøàÚÅÒü ¤¸¤Òê¡t¡ ÒÚ ëÎ[i¡ Òìºà

(A) ALEP

(B) VNTR

(C) SCAR

(D) SSCP

101. ¤õ[i¡Å ³ì= ë¤Åã ³àyàÚ ë³ºà[>> * ³Åà¹ [l¡.
[l¡. [i¡. šø[t¡ì¹à‹ Û¡³t¡à [>ì³—¹ ëA¡à>[i¡¹
l¡üƒàÒ¹o?

(A) ë™àK¸t¡ì³¹ l¡üƒô¤t¢¡>

(B) [¤–ƒå š[¹¤¸[v¡û¡

(C) ë\ì>[i¡A¡ [l¡öó¡i¡

(D) šøàAõ¡[t¡A¡ [>¤¢àW¡>

102. l¡à¹l¡üÒüì>¹ t¡w ">å™àÚã "ìÐ¡ö[ºÚà> ³à¹Îå[šÚàº 
[>ì³—¹ ëA¡à>[i¡¹ l¡üƒàÒ¹o?

(A) A¡>®¡à¹ì\–i¡ Òüì®¡à[ºl¡üÅ>

(B) "¸àl¡š[i¡®¡ ë¹[l¡ìÚÅ>

(C) š¸à¹àºàº Òüì®¡à[ºl¡üÅ>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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98. The prokaryotic enzyme with 5¢-3¢

exonuclease property is

(A) DNA polymerase I

(B) DNA polymerase II

(C) DNA polymerase III

(D) Both (A) and (C)

99. The portion of an eukaryotic gene

which is transcribed but not

translated is

(A) exon

(B) codon

(C) intron

(D) cistron

100. One of the most frequently used

techniques in DNA fingerprinting is

(A) ALEP

(B) VNTR

(C) SCAR

(D) SSCP

101. Higher frequency of melanin in

British moths and DDT resistance in 

mosquito is the example of

(A) survival for fittest

(B) point mutation

(C) genetic drift

(D) natural selection

102. According to Darwin, diversity in

Australian marsupials is an example 

of

(A) convergent evolution

(B) adaptive radiation

(C) parallel evolution

(D) None of the above



103. ëÒàì³à Òüì¹A¡i¡àÎ l¡üŠ±æt¡ ÒìÚ[áº ë™ Î³ÚA¡àìº
ëÎ[i¡ Òìºà

(A) šÃàìÚà[Î>

(B) šÃàÒüìÐ¡à[Î>

(C) *[ºìKà[Î>

(D) ³àìÚà[Î>

104. [ó¡ºÎ[ó¡Aô¡ \åº[\Aô¡ ¤Òü[i¡ [ºìJ[áìº>

(A) *ÚàìºÎ

(B) *šà[¹>

(C) º¸à³àA¢¡

(D) l¡à¹l¡üÒü>

105. \>> \[>t¡ "”z:¹>-&¹ &A¡[i¡ l¡üƒàÒ¹o Òìºà

(A) [³l¡üº (ëQàØl¡à * Kà‹à¹ Î}A¡¹)

(B) "à[A¢¡*šìi¡[¹G

(C) ë¤àì>[ºÚà

(D) l¡àÒüì>àÎ¹

106. [>³—[º[Jt¡ ëA¡à>ô ë¹àK-ë\àØl¡à[i¡ ¤¸àA¡ìi¡[¹Úà
\[>t¡?

(A) i¡àÒüó¡ìÚl¡ * Ñ¶ºšG

(B) A¡ìº¹à * [i¡ìi¡>àÎ

(C) [i¡ìi¡>àÎ * ³à´šÎ

(D) [>l¡üì³à[>Úà * SARS
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103. Homo erectus evolved during

(A) Pliocene

(B) Pleistocene

(C) Oligocene

(D) Miocene

104. The book, Philosophie Zoologique was 

written by

(A) Wallace

(B) Oparin

(C) Lamarck

(D) Darwin

105. An example of reproductive isolation 

is

(A) Mule

(B) Archaeopteryx

(C) Bonellia

(D) Dinosaurs

106. Which of the following sets of

disease is caused by bacteria?

(A) Typhoid and smallpox

(B) Cholera and tetanus

(C) Tetanus and mumps

(D) Pneumonia and SARS



107. ëA¡à>ô [>³—[º[Jt¡ \ã¤à>å[i¡¹ Î}yû¡³ì> ëšÅã¹ ¤¸=à 
"ì”|¹ š= "¤¹ç¡‡ý¡ ÒìÚ ¹v¡û¡à¿t¡à¹ ³t¡
ºÛ¡oP¡[º šøA¡àÅ šàÚ?

(A) i¡öàÒüìA¡àó¡àÒüi¡>

(B) ®¡àl¡üìW¡[¹Úà

(C) "¸àÎA¡à[¹Î

(D) šÃàÎì³à[l¡Úà³

108. ëA¡à>ô šøA¡à¹ ëÅ«t¡ ¹v¡û¡A¡[>A¡à¹ [Ò[Ð¡> *
ëÒšà[¹> [>:Î¹ì>¹ Îàì= Î´šA¢¡™åv¡û¡?

(A) ë¤ìÎà[ó¡º

(B) [>l¡üìi¡öà[ó¡º

(C) Òül¡üìÎì>à[ó¡º

(D) ë³àì>àÎàÒüi¡

109. [>³—[º[Jt¡ ëA¡à>ô Òü[³l¡üì>àìNÃà[¤l¡ü[º>[i¡ ëš–i¡à³à¹
¹ê¡ìš šà*Úà ™àÚ?

(A) IgG

(B) IgM

(C) IgA

(D) IgE

110. ë³=àìl¡à> Òìºà &A¡[i¡

(A) ëÎìl¡[i¡®¡

(B) Ò¸àºå[Îì>àì\>

(C) *[šìÚi¡ >à¹ìA¡à[i¡A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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107. Mascular pain, blockage of

intestinal passage, anaemia are

some of the symptoms caused due

to infection by

(A) Trichophyton

(B) Wuchereria

(C) Ascaris

(D) Plasmodium

108. Which types of white blood cells are

concerned with the release of

histamine and heparin?

(A) Basophils

(B) Neutrophils

(C) Eosinophils

(D) Monocytes

109. Which of the following

immunoglobulins is found as

pentamer?

(A) IgG

(B) IgM

(C) IgA

(D) IgE

110. Methadone is a/an

(A) Sedative

(B) Hallucinogen

(C) Opiate narcotic

(D) None of the above



111. [Î»¡ t¡”ñìt¡ l¡üš[Ñ‚t¡ ëšøà[i¡>[i¡ Òìºà

(A) ó¡àÒüì¤øàÒü> 

(B) ÒüºàÎ[i¡>

(C) ëA¡àºàì\>

(D) ëA¡[Î>

112. ³;Î šø\>ì>¹ \>¸ ëA¡à>ô ƒå[i¡ Ò¹ì³à>
šøìÚà\>ãÚ?

(A) TSH &¤} ACTH

(B) ÒüìÐ¡öàì\> &¤} ëšøàì\Îìi¡¹>

(C) FSH &¤} LH

(D) "[Gìi¡à[Î> &¤} ë®¡ìÎàìšø[Î>

113. [>³—[º[Jt¡ ëA¡à>ô ëšàº[i¡ö šÛ¡ã[i¡ Òü}[ºÅ [¤øl¡
>Ú?

(A) ÎàìÎG

(B) "Ð¡öàºš

(C) *¹[š}i¡>

(D) ³àÒü>¹A¡à

114. l¡üZW¡³àyàÚ J[>\ &¤} ëšøà[i¡> ÎÒì™àìK l¡ü[Š±ƒ
ÅÎ¸ šø\>>ìA¡ ¤ìº

(A) ëÎà³à[i¡A¡ ÒàÒü[¤øl¡àÒüì\Å>

(B) ¤àìÚàó¡¹[i¡[ó¡ìA¡Å>

(C) ¤àìÚà³¸àK>ã[ó¡ìA¡Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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111. Protein present in silk fibre is

(A) fibroin

(B) elastin

(C) collagen

(D) casein

112. Which of the following two hormones 

are essential for induced breeding of 

fishes?

(A) TSH and ACTH

(B) Estrogen and progesterone

(C) FSH and LH

(D) Oxytocin and vesopressin

113. Which one of the following poultry

birds is not an English breed?

(A) Sussex

(B) Australorp

(C) Orpington

(D) Minorca

114. Breeding of crops with high level of

minerals and protein is called

(A) somatic hybridization

(B) biofortification

(C) biomagnification

(D) None of the above



115. ³àÒüìyû¡àìšøàšàìKÅ> š‡ý¡[t¡ìt¡ ®¡àÒü¹àÎ-³åv¡û¡ l¡ü[Š±ƒ 
l¡ü;šÄ A¡¹ìt¡ l¡ü[Š±ìƒ¹ ëA¡à> "}Å Î¤ìW¡ìÚ
ë™àK¸?

(A) š¤¢

(B) "NøÑ‚ ®¡à\A¡ A¡ºà

(C) ¤[Ò:Ñz¹

(D) ¤»¡º

116. ëšøà¤àìÚà[i¡A¡ Òìºà

(A) \ã¤”z \ã¤à>å Jàƒ¸

(B) A¡¸àXà¹-l¡ü;šàƒ>A¡à¹ã \ã¤à>å

(C) [>¹àšƒ "¸à[–i¡¤àìÚà[i¡A¡

(D) "¸àºà[\¢ Îõ[Ê¡A¡à¹ã Jàƒ¸

117. ë¹à³”‚>A¡à¹ã šøàoãìƒ¹ ëKà¤¹ ë=ìA¡ í\¤ K¸àÎ
l¡ü;šàƒì> ƒàÚã ëšøàA¡¸à[¹*[i¡A¡ Òìºà

(A) Òül¡ü¤¸àA¡ìi¡[¹Úà

(B) =àì³¢à"¸à[Îìl¡à[ó¡ºÎô

(C) Ò¸àìºà[ó¡ºÎô

(D) [³=àì>àì\>Îô

118. >ƒ¢³à¹ šW¡à \º ëÅà‹>A¡àìº l¡ü;šÄ í\¤
K¸àÎP¡[º Òìºà

(A) ÒàÒüìl¡öàì\> Îàºó¡àÒül¡, >àÒüìi¡öàì\>, [³ì=>

(B) [³ì=>, "[Gì\>, ÒàÒüìl¡öàì\> Îàºó¡àÒül¡

(C) A¡à¤¢> l¡àÒü"GàÒül¡, [³ì=>, ÒàÒüìl¡öàì\>
Îàºó¡àÒül¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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115. Which part would be the most

suitable for raising virus-free plants

in micropropagation?

(A) Node

(B) Apical meristem

(C) Cortex

(D) Bark

116. Probiotics are

(A) live microbial food suppliment

(B) cancer-inducing microbes

(C) safe antibiotics

(D) food allergens

117. Primitive prokaryotes responsible for 

the production of biogas from the

dung of ruminant animals are

(A) eubacteria

(B) thermoacidophiles

(C) halophiles

(D) methanogens

118. During sewage treatment, biogases

produced are

(A) hydrogen sulphide, nitrogen,

methane

(B) methane, oxygen, hydrogen

sulphide

(C) carbon dioxide, methane,

hydrogen sulphide

(D) None of the above



119. [>ì³—¹ ëA¡à>[i¡ l¡ü[Š±ìƒ¹ [>³àìi¡àl¡\[>t¡ ë¹àìK¹ 
í\¤ [>Ú”|ìo l¡üšì™àKã šø[t¡šÄ ÒìÚìá?

(A) NÃàìÚàAÃ¡¸à[l¡Úà³ ®¡àÒüì¹>Î

(B) ÎàÒüìºà=àÎ [i¡}ìC¡à[¹ÚàÎ

(C) [š[Îìºà³àÒü[ÎÎ [ººà[Î>àÎ

(D) [Îl¡üìl¡àì³à>àÎ ëÎšà[ÎÚà

120. l¡ü[Š±ìƒ¹ ó¡Îìó¡à¹àÎ NøÒo Û¡³t¡à l¡üÄt¡ A¡¹ìt¡
šàì¹ &³> &A¡ í\¤ Îàì¹¹ šøAõ¡Ê¡ l¡üƒàÒ¹o Òìºà

(A) "¸àì\à[Ñš[¹[ºÚà³

(B) ¹àÒüì\à[¤Úà³

(C) "¸àA¡[i¡ì>à³àÒü[ÎÎ

(D) "¸àì\àºà

121. [>³—[º[Jt¡ ëA¡à>ô ë¹Î[i¡öA¡Å> &ì“¡à[>l¡ü[AÃ¡ìÚ\
¤Ãà–i¡ &r¡ (ë®ò¡àt¡à šøà”z) l¡ü;šÄ A¡ì¹?

(A) Sal I

(B) Eco RV

(C) Hind III

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

122. ë\ì>[i¡A¡ šøìA¡ïÅìº T-DNA Ñ‚à>à”z¹ìo¹ \>¸
ë™ \ã¤à>å ¤¸¤Òê¡t¡ ÒÚ ëÎ[i¡ Òìºà

(A) ëÐ¡öšìi¡à³àÒü[ÎÎ ÒàÒüìNøàÎA¡[šA¡àÎ

(B) &ìÑW¡àì¹à[ÅÚà ëA¡àºàÒü

(C) "¸àìNøà¤¸àA¡ìi¡[¹Úà³ [i¡l¡ü[³ó¡¸à[ÎìÚ>ôÎ

(D) Îàºì³àì>ºà i¡àÒü[ó¡

/16 31 [ P.T.O.

119. Which of the following has been

proved effective for biological control 

of nematodal disease in plants?

(A) Gliocladium virens

(B) Pisolithus tinctorius

(C) Paecilomyces lilacinus

(D) Pseudomonas cepacia

120. A good example of organic fertilizer

which improves phosphorus uptake

for plants is

(A) Azospirillum

(B) Rhizobium

(C) Actinomyces

(D) Azolla

121. Which of the following restriction

endonucleases produces blunt end?

(A) Sal I

(B) Eco RV

(C) Hind III

(D) None of the above

122. The organism used to transfer

T-DNA in genetic engineering is

(A) Streptomyces hygroscopicus

(B) Escherichia coli

(C) Agrobacterium tumefacience

(D) Salmonella typhi



123. [>³—[º[Jt¡ ëA¡à>[i¡¹ [>[ƒ¢Ê¡ yû¡³à>åÎà¹ [W¡[Òû¡t¡ A¡ì¹ 
Hind II [l¡ &> & "oåìA¡ [>[ƒ¢Ê¡ "}ìÅ A¡v¢¡>
A¡ì¹?

(A) 2 ë¤Î ëšÚà¹

(B) 3 ë¤Î ëšÚà¹

(C) 5 ë¤Î ëšÚà¹

(D) 6 ë¤Î ëšÚà¹

124. ³à>¤ [\ì>à³ [ÎìA¡àìÚ>[Î}-&¹ \>¸ Îà‹à¹ot¡
¤¸¤Òê¡t¡ ë®¡C¡¹[i¡ Òìºà

(A) T-DNA

(B) BAC &¤} YAC

(C) T/A ëAÃ¡à[>} ë®¡C¡¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

125. Îà³å[‰A¡ l¡ü[Š±ƒ ë=ìA¡ [>ÍHà[Åt¡ "¸àKàì¹à\
¤¸¤Òê¡t¡ ÒÚ

(A) ë\º ÒüìºA¡ìi¡öàìó¡àì¹[ÎÎ-&

(B) ëÑšA¡ìi¡öàìó¡àìi¡àì³[i¡öìt¡

(C) [š [Î "à¹-&

(D) A¡ºà A¡È¢ì>

126. [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ šÃàÎ[³l¡?

(A) Bam HI

(B) Hind III

(C) pBR 322

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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123. Hind II cuts DNA molecule at a

specific point by recognizing a

specific sequence of

(A) 2 base pairs

(B) 3 base pairs

(C) 5 base pairs

(D) 6 base pairs

124. Commonly used vector for human

genenome sequencing is

(A) T-DNA

(B) BAC and YAC

(C) T/A cloning vectors

(D) None of the above

125. Agarose extracted from sea plants is

used in

(A) gel electrophoresis

(B) spectrophotometry

(C) PCR

(D) tissue culture

126. Which of the following is a plasmid?

(A) Bam HI

(B) Hind III

(C) pBR 322

(D) None of the above



127. [š [Î "à¹-& [l¡ &> & š[º³àì¹\ ¤¸¤Òà¹
Î´šìA¢¡ [>³—[º[Jt¡ ëA¡à>ô ¤>¢oà[i¡ Î[k¡A¡?

(A) NøÒãt¡à ëA¡àìÈ l¡üšÑ‚à[št¡ [l¡ &> &-ëA¡
Î}™åv¡û¡ A¡¹à¹ \>¸ &[i¡ ¤¸¤Òê¡t¡ ÒÚ

(B) &[i¡ &A¡[i¡ ®¡àÒü¹àÎ ë=ìA¡ "”z[¹t¡

(C) &[i¡ l¡üZW¡ t¡àš³àyàÚ A¡³¢Û¡³ =àìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

128. š[º³à[¹A¡ ëW¡Òü> [¹ìÚA¡Å> š‡ý¡[t¡[i¡ "à[¤ÍHà¹
A¡ì¹>

(A) ëA¡[¹ [³l¡ü[ºÎ

(B) ëyû¡ÒüK ë®¡>ôi¡à¹

(C) ³¸àGà³ * [Kº¤ài¢¡

(D) ëÒÒüÎ * ëºl¡à¹¤àK¢

129. Î¤¢šø=³ [AÃ¡[>A¡¸àº [\> ë=¹àšã ¤¸¤Òê¡t¡ ÒìÚ[áº 
ëA¡à>ô ë¹àK[i¡¹ [W¡[A¡;Îà¹ \>¸?

(A) l¡àÚàì¤[i¡Îô ë³[ºi¡àÎô

(B) [¹l¡üì³i¡ìÚl¡ "à¹=øàÒü[i¡Îô

(C) "¸àìl¡à>à[Î> [l¡"¸à³àÒüì>\-&¹ "®¡à¤

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

130. i¡öà>ôÎì\[>A¡ \ãì¤¹ i¡àìK¢i¡ A¡ºàÚ i¡öà>ôÎ[\ì>¹
šøA¡àÅìA¡ [>‹¢à¹o A¡ì¹

(A) ëšøàì³ài¡à¹

(B) [¹ìšài¢¡à¹

(C) &>Ò¸à>ôÎà¹

(D) i¡öà>ôÎ[\>
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127. Which one of the following is true

statement regarding DNA poly-

merase used in PCR?

(A) It is used to ligate introduced

DNA in receipient cell

(B) It is isolated from a virus

(C) It remains active a high

temperature

(D) None of the above

128. The polymerase chain reaction (PCR) 

technology was discovered by

(A) Kary Mullis

(B) Craig Venter

(C) Maxam and Gilbert

(D) Hays and Lederberg

129. The first clinical gene therapy was

given for treating

(A) diabetes mellitus

(B) rheumatoid arthritis

(C) adenosine deaminase deficiency

(D) None of the above

130. In transgenics, expression of

transgene in target tissue is

determined by

(A) promoter

(B) reporter

(C) enhancer

(D) transgene



131. Î¤¢à[‹A¡ i¡öà>ôÎì\ì>[i¡Aô¡Î l¡ü;šÄ A¡¹à ÒìÚìá

(A) K¹ç¡ ë=ìA¡

(B) Ç¡A¡¹ ë=ìA¡

(C) Òüòƒå¹ ë=ìA¡

(D) ³àá ë=ìA¡

132. [>³—[º[Jt¡ ë¹àK Îõ[Ê¡A¡à¹ãP¡[º¹ ³ì‹¸ ëA¡à>[i¡¹
šø[t¡ì¹à‹A¡à¹ã l¡ü[Š±ƒ Îõ[Ê¡ A¡¹à¹ \>¸ "à¹. &>. &.
Òü–i¡à¹ìó¡ì¹>ôÎ š‡ý¡[t¡ ¤¸¤Òê¡t¡ ÒìÚìá?

(A) [>³àìi¡àl¡

(B) áyàA¡

(C) ®¡àÒü¹àÎ

(D) A¡ãi¡à>å

133. [>³—[º[Jt¡ ëA¡à>ô [\>[i¡ \ã¤ìA¡àìÈ šøàAõ¡[t¡A¡®¡àì¤ 
ëƒJà ™àÚ >à?

(A) Bt [\>

(B) RNAi [\>

(C) Cry [\>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

134. ¤àÚå¤à[Òt¡ ³õ[v¡A¡àìA¡ ¤ìº

(A) "¸àºå[®¡Úàº

(B) &ìÚà[ºÚà>

(C) Òüºå[®¡Úàº

(D) NÃ¸à[ÎÚàº
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131. Maximum number of existing

transgenetics is from

(A) cow

(B) pig

(C) mice

(D) fish

132. The process of RNA interference

(RNAi) has been used in the

development of plant resistant to

(A) nematodes

(B) fungi

(C) viruses

(D) insects

133. Which of the following genes do not

occur naturally in living organism?

(A) Bt genes

(B) RNAi genes

(C) Cry genes

(D) None of the above

134. The soil transported by air is called

(A) alluvial

(B) aeolian

(C) eluvial

(D) glacial



135. &A¡[i¡ ¤õÒ; šøàAõ¡[t¡A¡ "e¡ìº [¤Ñzõt¡ l¡ü[Š±ƒ *
šøàoã¹ ³åJ¸ ¤àÑñt¡à[”|A¡ Î´ßƒàÚìA¡ ¤ìº

(A) ¤àìÚà³

(B) ¤àìÚàìÑ£¡Úà¹

(C) ¤àìÚà[¹[\*>

(D) ¤àìÚài¡à

136. [>³—[º[Jt¡ ëA¡à>ô ÎÒì™àK[i¡ [³l¡üWå¡Úà[º\³ šøƒÅ¢>
A¡ì¹?

(A) ³à>åìÈ¹ "ì”| "¤[Ñ‚t¡

(B) "à³ Kàìá "¤[Ñ‚t¡ "[A¢¡l¡

(C) lå¡³å¹ * ë¤àºt¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

137. ƒè[Èt¡ \ìº¹ &A¡[i¡ [>ìƒ¢ÅA¡ šø\à[t¡ Òìºà

(A) [i¡[¤ìó¡G

(B) ó¡àÒüìi¡àšÃ̧ à}A¡ôi¡>

(C) \åšÃ̧ à}A¡ôi¡>

(D) [W¡}[Øl¡

138. [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ë™[i¡¹ l¡üš¹ ¤àÑñt¡ì”|¹
Ñ‚àÚãŒ [>®¢¡¹ A¡ì¹ ëÎ[i¡ Òìºà

(A) šøà=[³A¡ l¡ü;šàƒ>Åãºt¡à

(B) l¡ü;šàƒA¡ * JàƒìA¡¹ ³ì‹¸ "à”z:š[¹¤t¢¡>

(C) l¡ü;šàƒìA¡¹ Î}J¸à

(D) JàƒìA¡¹ Î}J¸à

/16 35 [ P.T.O.

135. Major ecological community of

plants and animals extending over

large natural area is called

(A) biome

(B) biosphere

(C) bioregion

(D) biota

136. Which one of the following

associations shows mutualism?

(A) Roundworm in human intestine

(B) Orchid on mango tree

(C) Fig and wasp

(D) None of the above

137. An ‘indicator species’ for polluted

water is

(A) Tubifex

(B) phytoplankton

(C) zooplankton

(D) prawns

138. Stability of ecosystem depends on

(A) primary productivity

(B) interchange between producers

and consumers

(C) number of producers

(D) number of consumers



139. ëKï> l¡ü;šàƒ>Åãºt¡à Òìºà [>³—[º[Jt¡ ëA¡à>[i¡¹
‡à¹à >tå¡> í\¤ šƒà=¢ l¡ü;šà[ƒt¡ Ò*Úà¹ ƒ¹?

(A) l¡ü;šàƒA¡

(B) JàƒA¡

(C) [¤ìÚà\A¡

(D) š¹\ã¤ã

140. &A¡[i¡ [>[ƒ¢Ê¡ \º¤àÚå\ "¤Ñ‚àÚ [¤ìÚà\ì>¹ Òà¹
‹ã¹ K[t¡Î´šÄ ÒÚ ™[ƒ

(A) A¡A¢¡¹ ÅA¢¡¹à Î³õ‡ý¡ ÒÚ

(B) A¡A¢¡¹ [Òl¡ü³àÎ Î³õ‡ý¡ ÒÚ

(C) A¡A¢¡¹ >àÒüìi¡öàì\> Î³õ‡ý¡ ÒÚ

(D) A¡A¢¡¹ [ºK>ã> * [W¡[i¡> Î³õ‡ý¡ ÒÚ

141. &A¡[i¡ ¤àÑñt¡ì”|¹ NøÎô šøà=[³A¡ l¡ü;šàƒ>Åãºt¡à
í\¤ šƒàì=¢¹ 170 i¡>¡&¤} Å«Îì> ¤¸¤Òê¡t¡
š[¹³ào 50 i¡>¡ú ¤àÑñt¡”|[i¡¹ "àÎº šøà=[³A¡
l¡ü;šàƒ>Åãºt¡à [>o¢Ú A¡ì¹à¡ú

(A) 120 i¡>

(B) 100 i¡>

(C) 70 i¡>

(D) 10 i¡>

142. [>³—[º[Jt¡ ëA¡à>ô i¡ö[ó¡A¡ š™¢àìÚ #Kº šàJãìA¡
¹àJà ™àÚ?

(A) T1

(B) T2

(C) T3

(D) T4 
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139. Secondary productivity is the rate of

formation of new organic matters by

(A) producers

(B) consumers

(C) decomposers

(D) parasites

140. In a particular climatic condition,

decomposition rate is slower if

(A) detritus is rich in sugar

(B) detritus is rich in humus

(C) detritus is rich in nitrogen

(D) detritus is rich in lignin and

chitin

141. The gross primary productivity of an 

ecosystem is 170 tons of organic

matter and amount used in

respiration is 50 tons. Calculate the

net primary productivity.

(A) 120 tons

(B) 100 tons

(C) 70 tons

(D) 10 tons

142. The eagle can be placed in which of

the following trophic levels?

(A) T1

(B) T2

(C) T3

(D) T4



143. [>³—[º[Jt¡ ëA¡à>ô [š¹à[³ìl¡ i¡ö[ó¡A¡ Ñzì¹¹ \ãì¤¹
Î}J¸à l¡ü;šàƒA¡ Ñz¹ ë=ìA¡ JàƒA¡ Ñzì¹ A¡ì³ ™àÚ?

(A) Î}J¸à[®¡[v¡A¡ [š¹à[³l¡

(B) í\¤[®¡[v¡A¡ [š¹à[³l¡

(C) Å[v¡û¡[®¡[v¡A¡ [š¹à[³l¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

144. ®¡à¹t¡¤ìÈ¢ [>³—[º[Jt¡ ëA¡à>[i¡¹ Î¤¢àìšÛ¡à "[‹A¡
í¤[W¡y ëƒJà ™àÚ?

(A) "[A¢¡l¡

(B) "à³

(C) l¡ºô[ó¡>

(D) ¤àQ

145. ¹à\à\ã \àt¡ãÚ ¤>®è¡[³ "¤[Ñ‚t¡

(A) l¡üv¡¹àJr¡ìt¡

(B) t¡à[³º>àØl¡æìt¡

(C) A¡o¢ài¡ìA¡

(D) á[v¡ÅKìØl¡

146. [>³—[º[Jt¡ ëA¡à>[i¡ìA¡ ‘šõ[=¤ã >à³A¡ NøìÒ¹
óå¡Îóå¡Î’ "¸àJ¸à ëƒ*Úà ÒÚ?

(A) Nøã>º¸à“¡

(B) [Ò³àºÚ

(C) "¸à³à\> ¤õ[Ê¡Ñ•àt¡ "¹>¸

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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143. The number of individuals at trophic 

level decreases from the producer

level to consumer level in

(A) pyramid of numbers

(B) pyramid of biomass

(C) pyramid of energy

(D) None of the above

144. Which of the following has highest

diversity in India?

(A) Orchid

(B) Mango

(C) Dolphin

(D) Tigers

145. Rajaji National Park is situated in

(A) Uttarakhand

(B) Tamil Nadu

(C) Karnataka

(D) Chattisgarh

146. Which one of the following is

referred to as ‘Lungs of the Planet

Earth’?

(A) Greenland

(B) Himalayas

(C) Amazon rainforest

(D) None of the above



147. [>³—[º[Jt¡ ëA¡à>ô \å[i¡[i¡ ëKï> ¤àÚå ƒåÈìA¡¹
l¡üƒàÒ¹o?

(A) PAN &¤} CFC

(B) PAN &¤} O3

(C) Ñ¶K &¤} ÒàÒüìl¡öàA¡à¤¢>

(D) O3 &¤} CFC

148. [>³—[º[Jt¡ l¡üšàƒà>P¡[º¹ ³ì‹¸ šø‹à>t¡ ëA¡à>[i¡¹
"®¡àì¤ \ºàÅìÚ Òül¡üìi¡öà[ó¡ìA¡Åì>¹ A¡à¹ìo ³àìá¹ 
³õtå¡¸ Qìi¡?

(A) šøìÚà\>ãÚ J[>\ šƒà=¢

(B) "àìºàA¡

(C) Jàƒ¸

(D) "[Gì\>

149. Nøã>Òàl¡üÎ &ìó¡ìC¡ [³ì=> * CFC-¹ ë™àKƒà>
™=àyû¡ì³

(A) 20% * 6%

(B) 20% * 14%

(C) 14% * 60%

(D) 6% * 14%

150. *ì\à> Ñz¹ ÒöàÎ Î´¬Þê¡ãÚ "à”z\¢à[t¡A¡ Wå¡[v¡û¡ ³[–i¡öº
ëšøàìi¡àA¡º ÎàÛ¡[¹t¡ ÒìÚ[áº

(A) 1981 Îàìº

(B) 1985 Îàìº

(C) 1986 Îàìº

(D) 1987 Îàìº
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147. Which of the following pairs is an

example of secondary air pollulants?

(A) PAN and CFC

(B) PAN and O3

(C) Smog and hydrocarbons

(D) O3 and CFC

148. Eutrophication of water bodies

leading to killing of fishes is mainly

due to non-availability of

(A) essential minerals

(B) light

(C) food

(D) oxygen

149. Contributions of methane and CFC

towards greenhouse effect

respectively are

(A) 20% and 6%

(B) 20% and 14%

(C) 14% and 60%

(D) 6% and 14%

150. An International Treaty on ozone

depletion known as Montreal

Protocol was signed at Montreal in

the year

(A) 1981

(B) 1985

(C) 1986

(D) 1987



SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà¡

H H H
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š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤} [‡t¡ãÚ¤à¹

Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú
9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet

to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the OMR Answer Sheet
and dealt with as an unfair means case.

"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK A¡¹ìt¡

šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸ Òì¤ &¤} t¡à
">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú
11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and the OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú
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